C UL HEAR
246 15 - 16H
HUEEELEER BWE 2%
SH2EE 1S4 EERERHFAIHH s FER

& s 2 TR | SFUH [meszE| | B s 2 EHE | SFUH (menzE
1 B51 | g |wAERG| | 8 > 51 | % |EREEG
1| RFEFMW/NER 102 0 0 1 | RHEF—PFER 70 5 7
2 | E/NER 29 2 7 2 | KHFFEPER 120 29 24
3 | KFEF—/IER 101 27 27 3 [ XKHZEE - FER 137 11 8
4 | /R 117 0 0 4 | REF/\PER 173 33 19
5 | RBE=/IER 90 14 16 5 | BAmhEeR 56 17 30
6 | KBEZR/IFER 53 5 9 6 | BIATRZR 105 34 32
7 | RER/NER 23 4 17 7 | B2 153 57 37
8 | AFTHER/INFER 72 15 21 8 | KZFEF M= 147 25 17
9 | AT HE—/INER 71 12 17 9 | KHZEF=hZER 168 22 13
10 | IUFE/NFERR 150 0 0 10 | A PR 125 30 24
11 | BaANERR 135 1 1 11 | AEFEfAPER 56 12 21
12 | BSAE ZINERR 75 1 1 12 | KEFEPER 184 58 32
13 | BIAE = /INVER 127 8 6] | 13 %@qﬂ%ﬁz 148 20 14
14 | #H/NERR 156 0 ol [14] KHFEF+HEK 146 11 8
15 | ith E/NFERR 108 1 1 15 j(i'?k'ﬁﬁ/"i'::'"?’* 97 40 41
16 | ;h E5E — /NS 86 9 10 16 | BB FER 74 12 16
17 | /IR 106 16 15| | 17 | PAPZKR 40 5 13
18 | ABIHAEZ/INFR 108 10 9] [18 | fcBnH=Fi 159 35 22
19 | AFTHE M/ 55 7 13| |19 | HEDZR 195 28 14
20 | REAME—/INER 107 12 11 20 | IR 149 5 3
21 | HEFRA /D2 89 6 7] | 21 | EEEPZER 193 86 45
22 | A RIF/INER 63 6 10[ [ 22 | mERE AR 186 34 18
23 | BIAME=/INER 119 1 1 23 | O FER 151 5 3
24 | SBET/INERR 148 6 4| |24 | BRI ERR 77 12 16
25 | FE/INFER 65 2 3| | 25 [ FEiBRER 88 10 11
26 | AR/INFER 158 11 7] | 26 | ®RAFERKR 146 60 41
27 | Mg 129 8 6] [ 27| HiEPFR 137 53 39
28 | thE/NFER 152 1 1 28 | SEA G FR 72 12 17
29 [ /hAh/NERRR 150 2 1 e 3,552 761 21
30 | ER/NER 127 0 0 8583] 1,177 14
31 | R MR 66 0 0
32 | FRIN/INFER 65 4 6
33 | JBKE/NFER 69 12 17
34 | HEBINVERS 81 14 17
35 | AL /DR 79 4 5
36 | dbHER /DR 47 20 43
37 | PH/NER 49 2 4
38 | #REE/VER 61 2 3
39 | FFh/ R 44 9 20
40 | FhFk /N 61 14 23
4 | HEIINER 106 10 9
42 | 78BN AR 50 11 22
43 | BN 63 12 19
44 | EMHINEER 116 0 0
45 | {78/ AR 47 3 6
46 | BERH/DNFR 50 16 32
47 | BN 77 0 0
48 | ma7EEM/ AR 60 14 23
49 | ZA/NER 86 27 31
50 | XOF/NFER 110 0 0
51 | ZEEJI/NERR 73 4 5
52 | HHAE/NER 52 8 15
53 | KAFR/INERKR 40 2 5
54 | BLEOHNER 80 6 8
55 | EIF/INFER 79 6 8
56 | SEH/DFER 99 0 0
57 | FE/INER 63 19 30
58 | FiTE/IVER 55 5 9
59 | HEH/INFER 32 5 16

INERR 5,031 416 8




